ENTRANCE EXAMINATION- 2020
(SET-A)

Roll No.

Signature of the invigilator

Time: 3 HOURS Maximum Marks: 170

Instructions to Candidatec

l. Do not write your name or put any other mark of identification anywhere in the OMR Response Sheet. If
ANY MARK OF IDENTIFICATION IS DISCOVERED ANYWHERE IN OMR RESPONSE SHEET. the
OMR sheet will be cancelled and will not be evaluated. ‘

2. This Question Booklet contains the cover page and a total of 170 Multiple Choice Questions of 1mark

each,

3. In case of any discrepancy is found in translation into Hindi or Urdu, English version will be treated as
fina.

4. Space for rough work has been provided at the beginning and end. Available space on cach page may also be
used for rough work.

i (1-7) Prafufes v 97 ¥ R T Rrmwi ¥ & fren sy annven wa AR
-QIJ‘/'{R.JMILIL«::’G- JJ’PZCQJJ-QAL S IJIVJ_S.?;P :(7'|ﬁ}d"’)¢"y‘t

. (a) Room (b) Chamber
(¢) Veranda (d) Cabin

(a & (b) ¥w
(c) (d) 3fw
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/-’5'7 (b) l'/ (a)

C)::‘f (d) laty  (c)
2.  (a) Mouth Organ (b) Electric Guitar
(c) Keyboard (d) Sonata
(a) wRGAR (b) fagga Prr
c) = (d) sFm
A3 (b) Jiid (a)
bty (d) d (@)
3. (a A (b) 1
(cy D (d) E
(a) [}:NMP (b) JF EH
8 RPOQ (d) HDCF
s (s AbcdE (b) IfghO
(c) ApqrL (d) UlmnE
B-22 (SET-A) (3)
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(b) 2643

6. (a) 6213
i (/ 8463 d) 4867
7.  (a) 49-33 (b) 6246
(c) 83-67 (dy 70-55
8. From amongst the given alternatives, select the one in which the set of numbers is
most like the set of numbers given below:
. (6, 14, 30)
(a) 4,16, 28 (b) 7,12,22
(©) 612,22 (d) S, 12,20
e Ry g Rt § 4, 78 ¥, ¥ demet w1 wyp R g deIl @ waE
aTE B -
(6, 14, 30)
(a) 4,16,28 - ' \942, 22 .
(c) 6,12,22 (d) S,12,20
-i'-(/)d:”fé: U’/Z('-Jéi!frtﬂ/uﬁcf’q/j‘!{—gﬁ:_ o UJ?{L-_Jé
(6, 14, 30)
7,12,22 (b) 4,16,28 (a)
512,20 (d) 612,22 (o)
B-22 (SET-A) @
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9, Which one of the given responses would be a meaningful order of the following

words ?
A.  Family B. Community C. Mcember
D.  Locality E. Country
&5 C,A.D,B,E &) C,A, B,D,E
(c) C,A,B,ED (d C,A,DEB
A T sfafrael § & P @1 Frafafaa w=f &1 & ads w7 2
A. dRar B. aEm C. veQ
D. wmm@ D. 2w
(a) C,A.D,B,E (b) C,A. B,D.E
(¢) C,A,BED (d) C.A,D,E,B
?b'x..,f_:‘},éfdfc.g::.,gmj,:-c-,»b’yl.wié.:;;
S .C 54 B E oA
4 _E 5y .D
C, A, B,D,E (b) C,A,D,B,E (a)
C,A,D,E.B (d) C.,A,B,E,D (¢

10.  Arrange the following words according to the dictionary and select the correct

alternative:

/s

e / J
A.  TORTOISE B.TORONTO C.TORPED D. TORUS E. TORSTT
(a) B,E,C,A,D (b) B,E,C,D, A
ey B,C,E,A,D (d) B,C,E,D,A

T 3 AR Pt wE @) wafaa w5t A T8 R = T A

A.  TORTOISE B.TORONTO C.TORPED D. TORUS E.TORS!!
(@) B,E,C,A,D () B,E,C,D,A

(c) B,C,E,A,D (d B,C,E,D A
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-J/(j;d:l;égldjﬁrigwli5@/#’&&;&;&
T()R()NTO _B TORTOISE

TORSEL _E TORUS _D TORPED _(
B.E.C.D.A (b) B. E.C.A.D (a)
B,C.E,D.A (d) B,C.E, A, D (c)

Directions (Q. No. 11 to 12):

Find and fill the blank space with number/ word which cstablishes the g,

relationship as shown in the previous pairs of numbers/word.

somr /g 3@ o Rew @@ # WX A fed @R 3 A3 7 Raw g
o wnfia aar ¥

L e e /7620 0n AL ur s A i 0E S B30 (12e 11 A )2y

NPT,
1. 729:3::64: 2
/—636 (b) 686
(d) 2
12. Iron:anaemia: : Sleep
(a) Somnambulism (b) Dreams
(c) Insomnia (d) Nightmare
(a) T o (b) @
oy o (d) F&=
B-22 (SET-A) (6)
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-7 (b) _-,,(‘JZ;,J:E
—17tls (d) Loy

Directions (13-14) :

Choose the odd numeral pair/group in each of the following questions:

PrSr (13-14) : Prafafea g@t ¥ ¥ wQs § Raw w@m a@ gaaqE 3|
—L{/\-:'B:.Ib/h;d/';djﬁJ&.API_./;{‘;JU’AJSZ‘/JJ (

13.
(a) 18-36 . L (b) 15-25
(o)~ 25-54 (d) 27-81
14.
(a) Evil : Good (b) Lie: Truth
(c) Abstract : Concrete (d) Sound: Light
&:e” (b) Wi (a)
SR C) 2223 (0

15. If OUGHT is coded as ABCDE in a certain language. How can TOUGH be coded

in the same language?

(a) ABCDE (b) BCDEA
CDEAB (B /EAB('D
(c) P.T.O.
B-22 (SET-A) (N
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a’ ouGHT ® @ R s & ABCDE # w1 & M R amy 3,

TOUGHﬁG’GﬁWﬁ%ﬁWMmW??

(a) ABCDE (b) BCDEA

(¢) CDEAB (d) EABCD

L3 TOUGH Lyt e bl i p L ABCDE ALY 5 ¥ OUGHT /]

BCDEA (b) ABCDE  (a)
EABCD (d) CDEAB (¢)
16. If BITER is coded as KLMNO in a certain language. How can TRIBE be coded in

the same language?

() MOLNK (b) "MOLKN
(c) MOKLN (d) MOKNL

e BITER # & fAfyaa 9T F K1 MNO 3 &y ¥ Fifeq fear awar 31 TRIBE

Fr 3G urar ¥ A T g A1 gFHar 22
(a) MOLNK (b) MOLKN
(c) MOKLN (d) MOKNL

oz b WS TRIBE Lot bbl ML KLMNOGZ gL 6 BITER /)
MOLKN (b) MOLNK  (a)
MOKNL (d) MOKLN  (c)

B-22 (SET-A) (8)
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17.  Pointing to a man in the Photograph Ravi said, "His son's mother is the only
daughter in law of my mother”. How is the person in photograph related to Ravi?
(a)  Brother (b) Uncle

(c) Father (d) None of these
BRI F oF yew A A T FA gL W 3 Fw, o A A A AR AR
e wg ¥ A7 P ¥ VRS F 2wy e gk b2

M (b) wren

(c) faw (d) ¥ af @
t.}-'--{.-"’-"-.&x‘fG:"JuI-d/.’uLJ'g_.LJl':t{r’_xi.)’ulﬁi_i)\fuf’—{'gﬂ_ﬁl/ﬁLdu
?q_JWd_lc.duﬁﬂt’
g (b) Ju (2
Jféﬂ_dul (d) s ()

18. In a cinema hall, 8 friends H, I, J, K, L, M. N. O are sitting in a straight line

according to the following rules.

e J 1s the neighbour of K

Q H is just next to the left of L

a L is in one of the two seats in the middle.

o M is the only one sitting between 1 and L.

If N is not sitting at the extreme end, then who occupies the extreme right seat?
(a H (b) J

() K (d) EitherJorkK

. P.T.O.
https://www.jamiastudy.com



frat & IR
T R ot F, 8 B [, g K, L M, N, O e U g

A RE:
o) JUK @7 qE E
8 pfe | Haddemae
o e AP T ow § 3
o A M, | IR D e ek
W N IR F o e o Aot ¥, 4t o @ @Al 5 T W A ey by
(@ H (b) 1
) K d @rarjarg
LB n&E LS L Udr S 55,500, N, M, L, K, J, I, Heens8 2 Ui Lé g

e L4K K

e SAL L S WL H
~e gkl LUt Shal

- ltM Wil Lyl

o o %

- tM Wiyl Ll %

?:;.Cf,f.h}u;ﬂ; Oy |;JL;::J/£ s laf"uf:% B3N
J (b) H (a)

KiJ (d) K (o)

19.  Ramesh and Amir start a race, and together they run for 50 m. Ramesh turns right
and runs 60 m. While Amir tumns left and runs 40 m. Then Ramesh turns left and

runs 50 m. While Amir turns right and runs 50 m. How far are both now from each

other?

& 60m (b) 100m

(¢) 20m (d) 150
B-22 (SET-A) (10)
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Ay A afr 1 A g6 FQ ¥ IR A o w50 e 9w Ay ¥ wiw T
e ¥ o 60 divey Agd ¥ I SRR W wAw & o 40 ew Awew 1 R A
g wan ¥ 3w 50 dvex dgar ¥ Tl s 2g qwar & o 50 dfex dwan ¥ A
M@ Am Y ?
(a) 60 Hrx (b) 100 Hrex
(c) 20z (d) 150 Hrex

682129260 0 S 10 ol & 09 E 50 ZU Lt s SonLii plesst J5

L3092 50 et S P 1R S0 s F LT A0 p S AL

ST e i 13 LiU 95
100 (b) /460  (a)
22150 (d) 220 (c)

Direction (20-21): Complete the series in the given questions by putting a number in

place of question mark.
s (20-21): g M gwt ¥ gEwr B yFEeE @ WE W UE T8 OE W
q HL)

LI e L s SO AR S (2120 A )2
20. 64 28 92 56 148 112 ?
(a) 332 (b) 296
(c) 276 (d) 260

21. 5 6. 16 57 ? 1245 7506

(a) 6 (b) 16
(c) 57 (d) 248
B-22 (SET-A) (11)
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23.

‘Conclusion:

‘(@) 'XXX'is corrupt.

(b)  Most of the leaders are ¢co
(c)  'XXX'isnot corrupt,

(d)

Leaders are not corrupt,

rrupt.

FEA- B A XXX ® W we ¥

Frep-

(@ xxx wet)

(©)  Xxx w= 7 &,

What replaces the question mark?

Ab) sty dvr we &

(d) &nr we T ¥

SXXX'Z g S E L

..L,Gulfféw;;nki (b)
_E_xu:-';yu‘-‘.gu-:; (d)

-;:_dl?&'XXX'

(a)

- LUFAXXXT (&

16 2 15 4 13 7 10 11
(a) 15 (b) 16
(c) 17 (d) 18
TR At e ad k
l__lb 2 15 4 13 7 10 11 "
(4) 15 (b) 16
(c) 17 (d) 18
B-22 (SET-A) (12)
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e Uniry e doe iy

s L; N AN B U R T R

16 (b) 15 (a)

rJ

16

18 (d) 17 (<)

24. In a certain code, ABET 1s written as 3-5-11-41, how will CURE be wntter.

same code?
(a) 3-41-5-11 (b) 9-35-37-11
(¢) 1-17-5-11 (d) ¢ -43-37-11

s ffEa s & ABET #Y $-5-11-41 frgn amar &, CURE F IH Frs ¥ Y

forar S ?
(@ 3-41-5-11 (b) 9-35-37-11
() 1-17-5-11 (d) 7-43-37-11
Ui CURE £3/51-e V10 3-5-11-41 f ABET 23/ L)
9-35-37-11 (b) 3-41-5-11  (a)
7-43-37-11 (d) 1-17-5-11 (¢)

25. What should be placed on the position of question mark?

Pituitary : Brain : : Thymus : ?

(a)  Respiratory Tract (b) Spinal Cord
(¢c) Throat (d) Chest
P.T.O.
B-22 (SET-A) (13)
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W forvg Y oTE 9T AT W@ I Wity
gz : wftess : : anprw ;)
(a) w&T T (b) AszUE

(oA () srh

?.:;_I:H:L%c/"‘i{JUL‘JJ’YéLLfJ{f. P

vgiE :Z/h ‘U
Sidazs (b)

—< (d) £ (c)
c
26.  What should be placed on the position of question mark?
Blunt : Sharp : : Sow :
(a) Hide (b) Reap
(¢) Fam (’d) Spadc
T % 2 v v Ry Ty T g
LA R
(a) fur (b) e
€ = (d) Fww
G RSy
it + g
¥ (<) W @
J (d) f (0
B-22 (SET-A) (14)
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27.  Which of the alternatives may complete the incomplete Pattern?

?

VaV
NN

<]
¢ A’A’

frmfadmmogubA waER asa k -

?

VoV
\/ NN ¢

D.V.ﬂ
| [:>’ A. 2
®e

VAN
0’000v<>0

VoV

A®A

4

P.T.O.

B-22 (SET-A)

(a)

¢ AH’A’ < A\ \% N/

(b) (c)

?‘&'— &,) uL;f O) vu.t ul ? L; ZVL :

e <IN
’A’ N | AR |
) (d)

(a)

(b

(v)

VaV
%

(15)
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28.  If P means +, Q means x, R means + and S means —, then 18Q12P4R 5S¢ Meang.
(a) 59 (b) 90
(c) 53 (d) 43
WP Fad -, Q wad x, R &1 o + 3 S # g
18QI12P4R5S6 o1 aref #- o

_ﬁ_ﬁ’

(a) 59 (b) 90

or 53 (d) 43

TV 18Q12PARSS6 Fg ol S g bk Rug % o Qe+ rk P ]

%
90 (b) 59  (a)
43 (d) 53 (c)
29. In 12 hours how many times 90 degree angle will be formed between the hour and
minute needles of the watch?
(a) 22 (b) 18
(¢) 78 (d) 56
lzﬂéﬂ‘vﬁ!ﬁﬂ%amﬁaza&ma}mm:nm&ﬁmmﬁm
(a) 22 (b) 18
(c) 78 (d) 56
W JEL S SB0NFen L Ufr S b Ssph 8 12
18 (b) 22 (a)
56 (d) 78 (c)
B-22 (SET-A) (16)

https://www.jamiastudy.com



30.  Select an altemative for the empty box to represent a pattern.

5 15( 10
4 17| 9
10 | 2 10

(a) 11 (b) 12

(c) 15 (d) 10

mmmmmgmmmgm«hmmmm

5 L 151 10

4 171 9

10 | ? 10
(@ 1 (b) 12
() 15 (dy 10

LA IL L Lo L L S i Sery

5 151 10
4 171 9
10 ? 10
12 (b) 11 (a)
10 (d) 15 (¢)
P.T.0O.
B-22 (SET-A) (17)
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31.  Which of the following attributes denote great strengths of a teachr ?
(A)  Full-time active involvement in the school management
(B)  Setting examples
() Willingness to put assumptions to the test
(D) Acknowledging mistakes
Select the correct answer from the codes given below:
(@)  (A),(B)(D) (b) (B),(C), (D)

€) (A), (O), (D) (d) (A),(B), (C), (D)

o & & @ & Rdraa Rrers # 7o afrt 21 <ok &
(A) WgE WU ¥ qof rfrs wfsa wriver

(B) SeTET™r &2 Har

(C) ==t 3 gl A g

(D) ot #t gdtwr o0

e o T wix F § T I = 999 F-
L@ (A (B)(D) (b) (B), (C). (D)
(©) (A (O), (D) (d) (A),(B).(C), (D)
B-22 (SET-A) (18)
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{l

-gE&/&ich-‘:’WJJ{JJl:-IQ{:,de:; LS soian
PSS L F (A)
t/FeJe  (B)
uk";u{é{/;.)r"'f,}’ (€)
/)R (D)
", /._5“.,.!:!5;_;5/&'4_.;\}:,{5
(D)(C).(B) (b) (D)(B)(A) (a)
(D) {C) (B).(A) (d) (D)(C)(A) (c)
32 Which one of the following statements is correct in the context of multiple-choice
type questions?
(a)  They are more objective than true-false type questions.
(b)  They arc less objective than essay type questions.
(¢)  They are more subjective than short-answer type questions.

(d)  They are more subjective than short-answer type questions.

frafofta & & A w1 s wgfiweda mor & ort @ w08 F @ b

H) 2 Tl T & gt A gan A st st ¥
(b) 2 fraw yar 3 97 A g 4 Fw afre 0 K
(c) ¥ TY-I2W THN & T F qorn § aftrs afwEfae ¥

(d) 2 wh-em gaR B 9T ) qa F sfts afRfe B
P.T.O.

B-22 (SET-A) (19)
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?.;_&;y.w/c.u:.,}:i.;w&}tfé:-mr&.._.;:-.m
2 lnSiputie el Cink,

- wz_ﬁo"'r/'/c--'—ﬂ‘rﬁw‘ﬁ- (b)

L L nSry ”g;._;:g_u»éw"n’-'!-,—'f/f"; (¢c)

L ndrvulife ol oyl (Jl-“f?'é; (d)

33. What are required for good teaching?
(A) diagnosis (B) Remedy
(C)  Direction (D) Feedback
Select the correct answer from the codes given below:
(@) (A), (B), (C) & (D) (b) (A) & (B)
() (B),(C) & (D) @) & (D)
33 Rt & fre w® Smavas ¥ o
(a) Prm (b) I
(c) Rwm (d) widfiwar
8 Re T A & @ @ T B
(@) (A, (B), (C) & (D) (b) (A) & (B)
(¢©)  (B),(C)& (D) (d) (C)& (D)
B-22 (SET-A) (20)
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‘e n VL L AL S

x (b) A (a)
oer (d) — (C)

:u_'/.._.'?‘.,,mé;;;féa,__u_;:xs
(B) .» (A) (b) (D) 45 (C). (B) (A) (a)

(D) 5 (C) (d) (D) .1 (C) (B) (c)

34.  Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.
(a)  Avoidance of proximity (b) Voice modulation
(c) Repetitive pause (d) Fixed posture

T & BTl F wRfr F W B B wwe A B vyt wer o wwwE 5%

(a) FFzT ] =@ v(b)mﬂ‘f{t;@mﬁ

R i ge— T p—

LI ESES SIS P gLl W o B Lo, 1

o2 b1t (b) 2z (a)
asisA (d DI\
PTo. £l A (d) DA (c)
B-22 (SET-A) (21)
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35.  As a teacher, select the best option to ensure your effective presence i, the
classroom?
(a)  Use of peer command
(b)  Making aggressive statements
(¢)  Adoption of well-established posture

(d) being authoritarian

wﬁm%wﬁ,mﬁmmWﬁuﬁrgﬁﬁWM%mmm
R o

(a)  wewft (far) smdwr (wwie) @ wadm

(b) e agr 2Ar-

lo)  oredt me & = = @ s

(d) axward g .

_q/r;.&-'l&-fingﬁféié_l‘“f":@jﬂr??gj;uirmnﬁr__-,;?J,-L:r...g
Lratlbl (b) JEiUs  (a)

byt T (d) W;'I(})u/f,ﬁc.:,)dfl (¢)

36.  The use of teaching aids is justified on the grounds of’
(a)  Attracting students' attention in the classroom
(b)  Minimizing indiscipline problems in the classroom.

(¢)  Optimizing learning outcomes of students.

https://www_ jamiastudy.com



Rraror FERTAT FT ITATM T FER W e -k

(a) AEEN ¥ BTN H A AT FET )

(b) ¥ SITETATaT B TR B FH FET)
(c) ol @ deY & TR F ATHe |
(d) frax  waf F o B T wrfierd

fc_/bc_;!Jl 'Wlt’:l‘lu-u
_t/’?’ﬂ- (J(J‘L"L L.l;ry‘;ruurl.( (b) -t/—'v-;'.f._!)g:f,l.?j’-g!p L’b\.ﬁf”u’-l‘ (a)
. ,r}rjt}l'.jur"b’é:{‘__c (d) S A SAG LS (©

37.  Effectiveness of teaching has to be judged in terms of:
(a)  Course coverage (b) Students' interest
(¢) Lecaming outcomes of students (d) Use of teaching aids in the classroom
Rraor 2 TwTATeT F TR wad § i A e
(a) WIEEEHT FAA (b) owf &
g (@) & R v w1 I

s H " . & II’ ¢ - .
vb’ﬂt/uﬁ:; Llh'l'vf..l'f.;b/';-!:ilﬁl .-"'_-Vf-i.b!vi?

b (D) S5 @
JP'KJ'&'&J;Jr)JJL‘ (d) WLQ,} i__.,U' (¢)

38, One of the most powerful factors affecting teaching eflectveness i3 related to the

(a)  Social system of the country (b) Economic status of the socicty |

(¢) Prevailing political system (d) Educational system .

B-22 (SET-A) (23)
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ﬁmmmﬁﬁ#mﬁmt

@/ﬁmwﬁﬁ

Rrerer g Y TR FT
(a) 2w * wrnfs ARl
(c) iy voriiftrs sqaedn

< nylfJﬁw; .,/..QLI:L/}'&/&J;

e dede b () FES 6L (a)

{'UUO:L; (») regLory (o)
39.  Which one of the following is a key behaviour in effective teaching?
(a)  Using student ideas and contribution
(b}  Structuring
(¢)  Instructional variety

(d)  Questioning

ﬁqﬁ%ﬂﬁﬁﬁqm&ﬂwﬁwwwg?
(a) M%WWWWWWJ

(b) @
(c) Fiwme fray
(d) vysaw .
"Clode Ui AR SN2
=3 (b) Jb':"lb’:ﬁ;m.:,ﬁlf& (a)
t/dlr (d) (3_'_ e
B-22 (SET-A) (24)
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40.  Which of the following learner characteristics is highly related to effectiveness

of teaching?

(a) Prior experience of the learner

(b)  Educational status of the parents of the leamner
(c) Peer groups of the learner

(d) Family size from which the leamer comes

Preafafea & & 2 @ Rrerdt Rrdrvar Rrror 2 swrasfoar @ gavm ¥ 7
() dray A & g

(b)) drad @ R @ A oy

(c) ¥ AW @ wEEH T

(d) qftar @& IR frad das aen o k)

‘e Mrrlic L St R P SIS oy T L 20

:.;%‘&L"J.,-,:,Jls.-;:&..n;-_{:’ (b) st fanL 6T (a)
et Tt e g (d) Sl L v (©)
41. If majority of students in your class are weak you should

(a)  Not care about the intelligent students

(b) Keep your speed of teaching fast so that students' comprehension level may
increase. https:/www. jamiastudy.com
(¢) Keep your teaching slowly

(d) Keep your teaching slow along with some ex{ra guidance to bright PUP;!‘-T'O_

B-22 (SET-A) (25)



TR e W B Sftvetyr BTy Fo ¥ A et Wiy

(@) ¥R BTt B W ¥ qeam T R

) S e o i 3 o o o o o G
(c) o Rnror # by @ -

(d) mﬁmﬁﬁﬁmqgsmﬁwma}m-ﬂmm&m”a
i &

S TR Pl 8 i
5{/&’;!54& Vs (a)

-,f.suruc.;.,-u),ﬁ&wfrxf;c‘iﬁfbufui:i&' (

b)

T R (c)
_ufiwu%f,;gg.gmjmdu.{fun}m- (d)

2

42 Ateacher who js not able to draw the attention of his/her students should

(@)  Evaluate hijs teaching method and improve it
(b) Resign from the post
(¢)  Find fault in his pupils
(d) Start dictating
%Wﬁﬁmmmmmmﬁmm&ﬁmm
@) R gy @ qerin ¥ o 3 ¥ gur Y
(b) 9 & wehrgy
(c) faroffar ¥ srq a@iror
(d) R gw

B-22 (SET-A) (26)
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LA (D
43.  Which of the following is the most important single factor in underlying the
success of a beginning teacher?
(a)  Scholarship
(b) Communicative abilty
(c)  Personality and its ability to relate to the class and to the pupils

(d) Organisational ability

frafafea & 4 9 o oo R 3 geaa & Jafia s § qa@ e

oA S B ?
(a) oEAgfaA
(n) w=T@ @AW

() @twT T T Fm Ar fagaiagr @ Aefan 69 & e

(d) FTEAEE oA
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?c../‘:'»hﬁl;_*/b'u}f;_. Lﬁdig;#i&dk(&t-l&h;uf
45 (a)

s2kdls b)
e e Un/Cat S Sset (c)
SR g (d)

If some of your pupils misbchave with you in the college campus you Must

(a)  Report to the School Authority
(b)  Report to the guardian

(¢)  Try to improve their behaviour by your own character and scholarsh'rp

(d)  Mobilize other teachers against such students,

a&m@ﬁmm«w&mﬁma‘,m
-

(a) R TR Y i a5y

(b) qOE w9 5y

Q m!ﬁﬂmﬁ@mﬁmawmﬁ
(d) Qﬁmﬁfa‘?ﬁﬁmmmaﬁm

gdammﬁt,?ﬁamaﬁmm

TUR 1 vy w5

:.;.e.-bd;u.rr'}'.,az_/&qiué.? LTS hr i)
-g{/&:;;[é:ﬁ';};l (a)

_u:/.:.,; Sy o (b)
LTS paf oy 3

-
Tf/!-h:ul.',-"-‘%,t (c)

..,_r/_f}’iifwc_/u..sw;.gl"q'_.l (d)
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If back-benchers are always talking in your classroom, you should

45.
(a) Punish them
(b) Letthemdo what they are doing
(c) Askthemto sit on the front benches.
(d) None of the above
S R A & 08 N I AT 3 o7 WAw A v @ ¥ @ s 0
aifeq
(a) WA
(b) HEFAIMaERBE
o) T At A
éﬁ) o ¥ & i T
Gl B L S\ 28 LGl LS T
Lol ri S5l (b) wF ()
S L psse (d) L2 ol (©
46. An effective teaching means all of the following except
(a) Teaches with enthusiasm
(b) Finds fault in his/her students
(c)  Puts emphasis more on teaching than on class control
(d) Interested in making the subject matter understood rather than on completing
the course P.T.O.
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(a) TR % wrg e R

(b) o BTt F mch Prasreren &

() frwr o aan Rl & orftrs o e B

(@ ST g w3 & o Ay A @AW STy
Lot e ___,;,g;;zs_,kfs’g:,;;;.-_g

ety AL ingz
-c:“_cfl.rgf{ﬁwg'b&;_l (y

~boniy J-'-’z;a:LJC'— s.)’/:{flf (c)
-.;_Céu;f:;;é_q’fcﬁrz_pcii_/v'{af (d)

47. Ateacher in the class should keep the pitch of hic voice
(2)  High enough (b) Low
(¢)  Moderate (d) Sometime low and sometime high
T H % s ) oy A A R e 113
(a) wafey b) =%
©) o A 38w o 3B T A
%‘-gd’ms]’&lﬁulg{uﬁﬂf
| ¢ (b) olide ()
uf"d';'&f (d) gz (@)
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48.  If students are not able to follow, you should
(a)  Give them prompt (b) Make the teaching points casy
(¢)  Ilustrate with examples (d) Al the above

R BT AT FA A W T K, A sy wivg

(a) ¥ wmu (b) Rrrer izt # s wame
(c) SemETot & WWHTEY (d) Svirmy weh
Sl T Ae ALY
Lol egLs (b) S (a)
U2z (d) S/l (0

49.  If some of your student(s) pass remarks on you, you will
(a) Punish them
(b)  Expel them from the class/school
(¢)  Take revenge while evaluating their internal test answer sheets

(d) be impartial at the time of evaluation

R S9E FB B AW W Roelt @ ¥ @ w9 A

(a) ¥ A =t (b) % wway ¥ Prenfa ¢, -
ORRUELCALLE S GO R LR IRt R U]
(d) praiw & w foromr @
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£ (a)

£ Jb JFvs s (b)
-E_rU?!LKZi-}flgfu;;dlﬁJé?LF’JJL;JI ¢)
& G L (d)

]

50.  Ifa teacher is not able to answer the question of a pupil he/she should
(8)  Say that he/she will answer the question after consultation
(b)  Rebuke the student and make them keep discipline
(c)  Say that the question is wrong
(d)  Feel shy of his/her iIgnorance
u&w&mwmimmmﬁﬁm#ﬁteﬁaﬂw&q
(a) mﬁ;nwz&mmmm%’n
(b) mm}mﬂ‘mﬁmﬂ‘iﬁ&

(c) I® F&T 5 gy o 3
(d) 9 T @ gnf HEQH B
e e s S iz¥ s Ao 3,
-b’r_.:.,.lfwi.:ﬂb«-fi:;_gb:" (a)

-G Pz peii iy ()
_..-‘;_UJJIr.J/Z;_&Qf (c)
et lt P (@)
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51.
(a)
(b)
(¢)
(d)

Decorating the classroom

Classroom discipline can be maintained cffectively by

Knowing the cause of indiscipline and handling it with stern hand

Providing a programme which

None of the above

1S according to the interest of the pupils

F1 B AT F FAAET B W TR G ¥ =0 @ ar wwar

(a)
(b)

L)
(d)

FHUT P AL 4

AT AT BT BT I R I S wrwerr
mmﬁmmmﬁ@ﬁﬁﬁuﬁ%w}

Iqda § ¥ Hrf

- L:Cb_L.Lr Py &4 3&,;:[119;({%"1;,"15/

i dpsf (a)

C I L S enS e s S L b (D)
bl S tj;‘:?rru/:,; i (o)
SE e Lo (@)

52.  Ateacher in the class s the
(a)  president of the class (b) director of the class
(c) leader and guide of the class  (d) All of the above
Fen A uw Anr ¥
(a) e &1 ey (b) =& & PRy
(c) “ar o ®an &1 wrfeyts (d) SvtE o
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53.

54,

eI EILI2
A8 (b) wSUE  (a)
51 1
l!- (d) ey KJLK (c)
‘U osae
- 'y . "_ I "I .
In the development of which of the following verbal guidance is the leas effectiy,,
n the dev

itude alues
(a)  concept and facts (b) attitude and va

(¢)  Relationships (d) skills
PR & 3 a1 & e ¥ s wmfaytr ) 5 S
(a) SrEERom A Fuy (b) ¥ st gy
() wwg (d) #wwr
o _JUVJJLJJ'J/JJ(C_ VSN
Ay, (b) Jl}'? sy (a)
= (d) =G (¢)

For Mmeasuring Quality of education jn scho
following is/are Important?

(@)  Avaj lable int'ras:ructurc

(b) Available Manpower, teachers and principal
(€)  Students achievemen

(d) Al of the abgye

@) Svoer afvarar gty (b) ST -9, R af v
(©) B 2 v (@ 3w oy
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—Vosse (d) JELS (0

55.  Any educational programme should be planned according to the

(a) need of the children (b) ability of the children

(c) Interest of the child (d) Al of the above

et ot s o o A P ST e e e 2
(a) wedt & wEe (b) ==t 2 are
(c) w3 s g (d)Svd ait
CIREN T AVERYN SNt S Sl ot

c4GSug (b) enflut (a)

d"-ﬂ',qu? (d) @{:J{_ (c)

56.  Teacher's primary responsibility lies in
(a)  Planning learning experiences for the children
(b) Implementing educational policies
(¢)  Maintaining students records

(d) All the above

B-22 (SET-A) (35)
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ATt & s rsdardy e &

() vt & forg vy @ argwdt A dor T
(b) s AR F anp w0

I T Y T F—

@ Swim

BRIV VRIS

S s P\ FLEL L s @
c/j}rul_,,_J&d_F' (b)

AsEBG LB (g

e (q)

37. While teaching in a classroom if there is some indiscipline, then the teacher shou
(a)  Not bother of what is happening in the class
(b)  Continue his/her teaching without taking care of the indiscipline
(¢)  Keep quiet for a while and then go on
(d) Al of the above

mﬁmmﬂﬁ@mmmmg,mm#“mm
RS R R T T -

(b) Wﬁm&qmmmmﬂ@

(c) Wh%mmmwﬁﬂmﬁ

(d) v oy,
S b e :zrﬂ/uf a;,f')’f.;':,,z_u:; LK
L e 2K ()
RS T SN TP S
- L T/ﬁm.,,;_r,u‘?,»uég_jé,d;i (c)
—Wsur (d)
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58. A teacher is expected to do all the following activitjes axcept:

(a) Participation in community affairs/activities
(b)  Taking interest and participate in politics
() Assist and guide pupils to solve their problems
(d) Sponsor clubs and other school affairs
s @ Prafafer it nfRRRtat £ 573 & aufz & firarg
(a) wrgefaE wrat AfafaRel & wrferd
K0 ot F &y ol W &
(c) wwemslt @ g ¥ Rgmfal 2 weram v awtestr s
(d) v 3 o= wglt amret ¥ ardrs-

it ST U s S Jo S E et
E'.‘.J.J-’U':U'};’/r/h?“lj;b‘ (a)

Aot (b)
r/.,f»L-:.uurngu.‘L.JL"'JL."_'.-y“’ (¢)

S’ }rléru{;& JEu St (d)

59.  Before starting the act of teaching a teacher should
(a)  Know the existing and previous knowledge of his students
(b)  Be aware of the environmental variable acting on the mind of the pupils
(¢)  Be competent enough to arouse the curiosity of his pupils

(d) All of the above
P.T.O.
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I
(@) oo ot & g o Rt et & o ¥,
(b) Pt & e et et

. w9 & gy
() v Ruiftal % Promen t qria 01 @ g “h”"ftq
(@ ST

;/-q_k‘g;.i./{fﬁf‘fb’i-w;:ﬁmf'
_Vg';f.,f)‘_;;vmuﬂré;&, ' (a)

1.7 S g.'_f’:”L::lJ!{, L Un S, (b)
n M S !‘:f"z': s/ U‘i’;-'u (¢c)

60. Teaching is mainly a process of:
(a)  Asking questions and assessing the lcarning
(b) Guiding the activities of the leamners

(b) Hearing the recitations of learners

(d)  Allof the above

B-22 (SET-A) (38)
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61.

62.

e R
¥ S SuerSir T (b) 650108 S T g ety (a)
—Utosar (d) b ol i (o)

Who of the following own the sportsperson of the year 2019 by Times of India

Sports Award?
(a)  Rohit Sharma (b) P.V. Sindhu
(¢) Virat Kohli (d) Jaspal Rana
T A6 ¥ @WE A Z ad 2019 @ Jw-Raremdt Pt 3 & 2k
(a) e gt (b) & & fig
(c) frae = (d) e won
/% S 2019 e ode i ssny 3 o 3T
e (b) Ve (a)
Ly -d) Slets ()
Which of the following cities is considered to be the outbreak point of COVID-19?
(a) Beiing (b) Rome
(¢) Wuhan (d) Shanghai
frafafea & @ #9 a1 T Covid-19 w1 v g wr amar X2
(@) ®fnm (b) I
lef g (d) s
fe_ bW G- Uiyl 144 ¥ COVID-19 el Lt o
¢ (b) L (a)
Jbﬁ (d) i (c)
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e Minister of Jharkhand in g
Chi

63. Hemant Sorcn was sworn in as nnu‘
of December 2019. .
(a) gth (b) 10
© 1" @ 12" S
¥y ¥R ¥ 2019 B R WY X GRS B gAY MY §
@ 9 ) 103
i 117 @ 128
Vdbe e J i nl b AL AL
J110 (b) 9 (a)
112 (d) Sl ()

64. Who of the following has been appointed as the first Chief of Defence Staff of

India?
(@)  Gen. Bipin Rawat (b) Gen. Manik Shaw
(c)  Gen. K.M. Cariappa (d) Gen. Bikram Singh

ﬁwﬁf&aﬁ#ﬁ;&m%wﬁﬁmm&%ma}mifﬁgmﬁmuﬂ?
(a) e faf T (b) e wifrs gt

TN T
ALz (b)
Fehlz ()

ll:;rut-iﬁfu;c_ufdigjﬁ
-:dbd::'J}? (a)
/AL 7 (©
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f the following countrics has beccome the first country 10 make entire haj

¢5. Which©
process digital?
(a) Iran (b) India
() Malaysia (d) Turkey
ﬁqﬁmﬁamm&ww“mm}mmmmwnw
L $
a) T (b) R
(c) W
?;.t_fd.-ﬁll::1"’i-tkﬁiffan.;g£é_ﬁwi’c.u:J;s.,m:-
vzt (b) S (a)
7 (D) B (e
y
66. The theme of 2019 World's AIDS day was:
(a) "Communitics make the difference”
(b)  "Societics make the difference”
(c) "Politicians make the difference”
(d) "NGOs make the difference”
2019 faya ugw feaq &1 Rwg a1 :
(a) “oe w® & ¥ ) “wirad & F
(c) “waan &% & ¥ (d) “u 3w @
W § Py b 551052019
‘w 255/ee” (b) ‘Ll igdie e (@)
P.T.. wLnopder” () LBt (O
B-22 (SET-A) @)
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March-5 or CZ-5 is a:
Long (b) Carrief Rocket

67.
Satellite
. Robot (d) Fastest CompUtet
(<) o
s ad-s @ s oE k
(a) TUTE (b) &P =
() e (d) F& T B
e KI5 A IS L5 By
-:fﬁ.l,’a/:( (b) ll!:-df"‘ (a)
ndeoz (@) 2 (o)
68.  Which of the following countries was the partner country for the 34th Surajkypg

International Crafts Mela-2020?

(a) South Africa (b) Ethiopia

(c) Uzbekistan (d) Sri Lanka

ﬁqﬁf&aﬁﬂmm&wuiwmﬁmﬂmmm%mmh

qre
(a) Rror i (b) sty
(c) SR (d) sheimr
‘-‘U-JJB-“/’/!//‘VQ:L J._,f J._uﬂi 4'12020‘.15‘6.; K\.'-"Jdl;,’l,“w:‘ .:ﬂ/ﬂwr‘
L1 (b) 237 (a)

&g, (d) c}l:’-;-ﬂ (~)

9 ' :
69. National Youth Day is celebrated on |2 January on the birth anni f
annmversary of . ..

: Dr. AP

(a) r- APJ Abdul Kalam (b) ChandrasekharAzad

(c) Swami Vivekananda (d) Ramkn'shna Paramhansa
B-22 (SET-A) (42)
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70.  Which Country has finished the year 2019 3 the No. | shooting nation in the

world?

(a) USA (b) India

(c) China (d) laly

P 20 3 o 2019 # I F T 1 PR g B Wy F e P X
(a) JwY (b) v

(c) ® (d) e

ey 7 09l b e SbLni JER 1 ALy

Jeasr (b) oIl (a)
S (d) L (0

71. Name the longest serving ruler of Oman who recently passed away.

(a) Qaseem Soleiman (b) Qaboos Bin Said
() Tamim Bin Hamad (d) Haitham Bin Tanq al Said b0
B-22 (SET-A) (43)
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W#Mﬁmwﬁmm“ﬁmﬂm ﬁﬁh

® v

(a) et s (b) = P T
(©  whw A e (@) Yo o e S 82
L et dent cobo Ll ferid ',b;""éuu
wri# (b) ST (a)
S (@) Ve (o)
72, Which port is now renamed as the Shyama Prasad Mukherjee Pont?
(a) Cochin Port (b) Kandla Port
(¢) Chennai Port (d) Kolkata Port
34 fFq FTTME F AT @A A AT qEet aens & far mr &2
(a) == ¥ZEME (b) #Hream 9
(c) ¢ Szoms _ (Y rerprr dzTmE
??'gw*/{L;/‘EL'J;.»QL/J_.ﬁ’tb’ab’u}.f._',l
g2 (b) ey (a)
gtdd (d) L4 ()

73. Indian Railway signed MoU with wich of the following for Phase-II of e-Office

Execution.
(a) RailTel (b) BSNL
(c) Jio (d) Infosys

wmﬂwia%#f—aﬁaﬁwma}w-ua}ﬁmmgm@aﬁqqm
fg

(a) W= (b) & w5 @ on
(c) Prit (d) wofm
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g (0) KL (@
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74. Where was the World Future Iinurgy Summit 2020 held during the month of
January 20207
(a)  Abu Dhabi (b) New Delhj
(¢) Geneva (d)  Tokyo
Ay wirer Saf frE THER-2020 F9EQ 2020 3 WA F et At P T
qi?
(a) rqard (b) ¢ e
(c) (d) derit
LG 2020- o 3507 03 s 2 22 L 20208, 52
Hod (B) Jusgr (a)
25 (d) w2 (¢)
75.  Robert Abela has been clected as the new leader and prime minister of which of the
following country?
(a) Morocco (b) Tumsia
(c) Mala (d) Algena
e sraen Prfafea § @ e 2w @ v dar oy g4 o ¥
(a) s (b) g
HieT
(©) (d) srnRe P.TO.
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JE (b) Sy (@
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76. Name the tennis player who has won the Men's singles title in the inaugural ATP
Cup.
(a)  Novak Djokovic (c) Rafael Nadal
(c) Roger Federer (d) Denis Shapovalov

méﬁwmmmmwmmqaﬁmﬁwmmm
4|

(a) A A=Y (b) T TETA
(c) I Psw@ (d) e i

e LSt et GBI L A bt S

Jll‘jb (b) EofnSsd  (a)
Mgt (d) wiszu (c)

Who among the following has been appointed as Director General of Central

77.

Reserve Police Force (CRPF)?
(a) S S Deswal (b)  Anup Kumar Singh
(c) A P Maheshwari (d) Samant Goel
Frafefem % & R &l Rord g &@0 (Crer) @ oy @ w1 & e
far mar &2
(a) w9 @ A (b) o Fm g
(©) v mwd (d) wrde virw
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fe VoA SR H3K( CRPF) .5, Yz LS o
FN_s (b) Jss 212 (a)

JI"—'—-'"L* (d) dd;ft,éé_l (c)

7. Which of the following Districts received Swachchata Darpan Award 2019 for the
pest performing districts on key swachchata parameters?
(a) Meerut (UP) (b) Guna (MP)
(¢) Kapurthala (Punjab) (d) Puri (Odisha)

rfar & 4 fr P & TTE WS AR W adAe wevtw w0t A Rt @

fare e 2T QEERR 2019 WISl B2
@ ¥ @h (b) T ()
(c) wyrae (Ymw) (d) g& (snfEem)

Ire.20 I9;;1;_*!;{;;&:,’_&&:L/&):B’;{ﬁf.;ff'&q?’d‘:ﬂ(v/&- St ioia

eV

(d e/ (b) D2z (@

(&30S (d) ()M (©)
79.  In which of the following city, the fifth edition of Science Film Festival of India,
SCI-FFI 2020 was started on 15th J anuary 20207
(@)  Visakhapatnam (b) Panaji
(¢) Kolkata (d) Chennai
B-22 (SET-A)
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ﬁqﬁf@aﬁﬂﬁmmﬁ,mmmaﬂmﬁmﬂwm.
SCI-FF1 2020 15 WAail 2020 1 g% faan may ar 2

(a) PremeETrEEm
(c) #rawman

(b) ot
(d) @
S5 1S JETE SCIFFI 2020 (& 4

‘: v||_f:.:kh, lt:"":.f‘k‘ ':..-

'l o
j - . o
o/ Vb bk LS e

ST (b) AVE (a)
GARC)) 07 (¢)

80.  Who has won the ICC ODI Cricketer of the Year award at 1CC Awards 2019?

(a)  Virat Kohli (b) Pat Cummins

(¢c) Rohit Sharma (d} Ben Stokes

ICC 3arg| 2019 &, 1CC O] ey 3t 2 Sv smard fvay A &2
(a) fame Fd (b) %= #fw

(c) Ofea ymi (d) & =
?‘f-'cfi-ﬂ,lglgtd:_jf'7;}'::,:-'“.;.30:563742019551'!'6637
iy (b) 5.

Srts (a)

-\ .
ur',qr—lo_' ((l) Ry (l:)
81, Which state government has signed a memor

andum of understanding (MoU) with
the TUCN to red List orchids?

(@)  Arunachal Pradesh (b)  Andhra Pradesh

() Assam (d)  Karnataka

B-22 (SET-A) (48)
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oS (@)

A
v’ijiugthl (a)

Lt (c)

Which bank recently has launched cardless cash withdrawal facility from its

82.
ATMs?
(a) Axis Bank (b) ICICI Bank
(¢) HDFC Bank (d) Kotak Mahindra Bank
o 3 e 8 e A @ AR P 1 g g A b
(a) wREES (b) o & arf @ o &5
(c) g & 0% @ % (d) aﬁzeﬁqﬁ;:rh ‘
o St pen S 6Pl B A1t SRS
- edisdisdt ® Lt @
e (d) L& (©
83.  Which one of the following countrics will train Indian flight surgeons for
Gaganyaan mission?
(a) USA (b) Russia
(c) France (d) China
mﬁmﬁ#mmmmmmﬁmmamm
Fam?
(a) wgw Uy AR b) &
(c) ww @
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Jis (b) USA (a)
L (D) S ()
84.  Ritesh Agarwal, who was named as the world’s second youngest billionaire, is the
founder of which Indian start-up company?
(a8) Zomato (b) Oyo Hotels

(c) Byjus (d) Swiggy

ﬁ#wma,h%sﬁm%@%mgmmwﬁf%mﬁmﬁaﬁmwm,ﬁm
TR w1y Fudt & weams ¥
(@ Ry (b) g Brew

\(%):i us (d) Swiggy

U S b o b o oS

Jrgs (b) s, (a)
Er (@ JE (0
85.  Which state recently passed resolution to conduct a caste-based census in the state?
(a) Bihar (b) Madhya Pradesh
(c)  West Bengal (d) Maharashtra

&ww#mﬁﬁmﬁmﬁmﬁammmmﬁwﬁaﬁm%?

(a) faerm (b) wer gy
(c) uf¥edy smm (d) weroe
B-22 (SET-A) (50)
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sl L LR Sttt i e s

ﬁ:.;,.‘-.b (b)
2, v (d) A (a)
;” | Jedr ©
many languages : .
g6. NS of 2020, how Y guages n India are given the status of 'Classical

languagcr?
o 2 (b) 4
© © @ 8

ﬁw'mmﬁmmﬁﬁt‘mw * Tt Ry mar &7

@ 2 (b) 4
c) 6 @ s
e Lopn¥ wEw YOI F S ke £ 2020
4 (b) 2 (a)
8 (@ 6 (o

87. Which association recently collaborated with NITI Aayog's Atal Innovation
(AIM) to launch artificial intellegence (Al) based module for Indian

Mission

School Students?

(a) FICCI ) NASSCOM
(c) ClII (d) NSC

mﬂﬁmmam@wﬂmwmmmm

Wﬁmm%m@mammammm(m)
% W v R

(a) FICCI (b) NASSCOM

(¢ Cu (d) NSC P.T.O.
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w,,wdbi-ﬂz SLLLS é”di’-‘Ler;(J el LB S
Yo L@l n i fic idiidr

NASSCOM (b) FICCI  (a)
AL (d) didis
88. Which of the following is the theme of the ‘National Science Day' 2020 ?
(@) Women in Science (b) Children in Science
(¢)  Youth in Science (d) Divyang in Science

Frafofea & & a9 adia Rsm Raw 2020 =7 Rrag & 2

(a) wgw & wfeang (b) fem & a=1
o fw & g (d) faem # Reain
‘e bte St i JB S K 2020540 67
&L (b) LA ()
L s (@) Uit (©)

89. What is the interest rate on deposits as announced by the Employees Provident
Fund Organisation (EPFO) for the financial year 2019-20 ?
(a) 8.9% (b) 8.7%
(c) 8.5% (d) 8.0%
sl wRe fafr s (EPFO) @ e ad 2019-20 ¥ T oif T W

Lo s )
(a) 8.9% (b) 8.7%
() 8.5% (d 8.0%
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‘-'r“_ U)’Jfl’dsyflc,)d,u )"n...-.fln/:;,«ﬁ.:. lp.'.‘_fl/‘.“b-c)!f:_ d:ub._u.&'-'

oz (b) cf:r (a)
oy (d) o8 (c)
92. Faraday's Law is associated with:
(@)  Electrolysis (b) reaction of gases
(¢)  pressure of pases (d) Temperature and pressure
R 7 Pram R am e o @
(a) wRRE (b) et 2 vt
(c) =¥ 1 zam (d) e v zamm

< e U:J_:‘:‘,JJQ;F(‘_ )

Skurd (b) PER TN C)
Wonla iz (d) 51..:5'uy’-r (c)

93.  Lime water in the open air tumns into milky because of

{a) Oxygen (b) Hydrogen

(c)  Carbon Dioxide (d) Nitrogen dioxide
g &1 & g ur g & e &, g9

(a) ottt (b) wEE

\(}y)’ Fd7 T FtaarEs (d) 5w =¥ Sifeares
-ﬁ;kaJ_fgﬁ_ﬂ?:n;..ngJ_}ausk K.J_,;LﬁmJ"

iy (b) ST ()
T3 (d) 2185 ©
B-22 (SET-A) (54)
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Soaps are the oo Salts of higher fagyy 0

o4. ’
(a) Sodium ) Alkal
(c) Fibre (d) Ppoy 188ium
HT!"‘[ T Faq At C waor ¥
(d) m ( M
(¢) TN (d) rferm
0, N Lo
Jg1 (b) “-'(d& 'u;b
2 =5y a)
Tty (d)
(- ’ A (0)
g5, Pyridine is an example of which compound?
- (a) Aldehyde (b) Alkene
(c) Heterocychic (d) Ketone
qredréia fe A &1 0% ITETT &7
(a) U (b) w=
() ¥RoaiFEs (d) ==
‘e Jed I8
oz (o) A (a)
o (d) it (©)
96. Which of the following help in the synthesis of proteins from amino acids?
(a)  Mitochondria (b) Golgi bodies
(c)  Plastids (d) Ribosomes
ﬁqﬁiﬁaﬁﬁmﬁwmqﬁgama}#ﬁ@wﬁmm%?
(@) Rt (b) et
(c) wnfes @ e
B-22 (SET-A) (55)

https://www jamiastudy.com



o L
e t'/G;l/u,C-_ LU spsan L gk AP AT

cidsd (b) LS (a)
(re (d) Jogo (c)

97. What is mushroom?

(@) Fungi (b) Bacteria
(c) Plant ) Virus
ayEw a1 &7
(@ o (b) ¥wdfen
(c) we (d) T
e\
L6 (b) F @
JAs (d) < (0
98.  An cssential need for germination of seed is the presence of
(a) Minerals (b) Water
(c) Light (d) Temperature
4 3 s & R TR SuRkay omaw ¥
(@) afr Ab) T
(c) womr (d) o
- Jﬁr"J- e, .:.-n/‘r‘i.gdlg)/lﬁg
Ju (b) ele  (a)
=720 (d) & (©)
99.  During Photosynthesis, plants make use of sunlight to convert water and carbon
dioxide to:
(a) Carbohydrates (b) Proteins
(c)  Hydrogen (d) Enzymes
B-22 (SET-A) (56)
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ol

W“‘“W
(a) FAEe

weg

qfaffa @ & e
(b) wém
(d) domem

‘ o S TN LN re oL od 7002
- X - .
TLE"'")U:' 02V (b) 2ok .6 (a)
A (d) Sy (€)
the discase malana?
What is the carrier Of .
100. (b) Aedes Mosquito
Mosquito (d) Anopheles Female Mosquito
q
(©) Culex Mos
v s 1 o FE 2
(a) & g (b) T R
(0 e T () gy
SR (b) Sekr (2
/’fuLu’y}’ (d) /:"rg{ (c)
101. In circular motion
(a) the direction of motion is fixed
(b)  the direction of motion changes continuously
()  the acceleration is zero
(d) the velocity is constant
B-22 (SET-aA)

(57)
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oy (e sym) &
(a) =Ry = Ry Pfes wd & () nfr 2 R FMAR WEEd e &

© = gwhmt (d) ¥ Rar et
PC:fC?d}IJ
&GS erdaz (b) q—Jﬂ';‘L*"JW (a)
cl..JxJ;:«l:'} (d) ‘.Q-r’f}‘(-';i/"'ff (r‘__
102. The unit of power is
(a) watt (b) joule
(c) newton (d) kelvin
o g &
fa) e (b) &
€©) == (d) @
q_JF’IJ.::’lb
Jz (b) <y (a)
o (@ e (©)

103.  Which of the following involves clectromagnetic induction?
(a) charge is put on a rod
(b)  an electric current produces a magnetic field
(¢)  amagnetic field exents a force on a current carrying wire

(d) relative motion between a magnet and a coil produces an electric curr

Frarfafere & & R Rgga Taa W mitw &2
(a) wwf o A 7 womar o &

(b) = fagge ama o gaaa & F INET Fd }
(c) = qwafig &y o iz @ AN AW AR W 0% ¥ v ¥
B T e ol gew @ dre e T O Prgae v wn o w b

B-22 (SET-A) (58)
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?ﬁ‘_.t'ﬂufa'ldéwtj,uﬂdr;_ L):J_i;ub'-’

Pt 4G (a)

- moesta e E ()

~ VB bdni bl ol P (o)
e 3 S8 T E e L o A ()

o formed by 2 concave MIrror is observed to be virtual, erect and larger
mag

joa. The!
object where sho

uld be the position of the object?
than the

(3) Betw

a the principal focus and centre of curvature
ce

» curvature
b) At the centr¢ of the curv

(©) Beyond the centre of the curvature
C

pole of the mirror and its principal focus

(@) Between the
mMWﬂfﬂﬂﬁﬂ@WﬁM,mmﬂﬁmf%tﬁh
T % Rt et By aRT?

(a) awar &z 3 oE eew 3 99

(b) wwar Bz A

(c) wwaT Bz A N

(d) fn 3 ga 3 S wqE wEE B

IRy ST JSh ki AF T,,udﬂcdivﬁfd’uf-@f‘jéé 102

%

L/ DA @

L /ST (b)Y

P.T.0. W»ﬁﬂdﬁ;m,ﬁézjf (d)

B-22 (SET-A) (59)
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105.

The change in focal length of an cye lens is caused by the action of
(a) Rctina (b) pupil
(¢) ciliary muscles (d) iris
st & # wrew st ¥ oad A P & e B &
(a) Yo (b) et
(c) Rifwrl waew (d) wfefar
e oSS L A it Suis r 57
t-ti’r ) ke, (a)
JJJT (d) S A (0)

106. Antibiotic Penicillin was discovered by

(a) Edward Jenner (b) Alexander Fleming

(¢) Robert Koch (d) Joscph Lister
éntaiie i o @ Py qr?

(a) wsag I (b) Tt wafeT
© e #m (d) ew Rrex

S na 5L S

L B (b) Rinit (a)
Aiz (d) gles (o)
107.  Which of the following is the first word processor application?
(@ MS Word (b) Apple I work
(c) Word Star (d) Word Perfect
Fraftfer & @ 2 qwen a€ D o b
(@) o uwa¥ (b) T omé o
() ==r (d) =€ woae
B-22 (SET-A) (60)
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'[‘ .r"..Ek ' 4
T g uie L) g

- ‘. h

.mejiur' (b) b ol (a)
» d)

-Jfgj’;'u,( aths o (€)

X fnllowi“g is valatilc memory in a computer system?
- c #

_— ('Ilt
08 whieh y (b) ROM
RA
@ L rive (d) Hard Disk
. tic
(«©) t;’gqﬁmﬁﬁaﬁﬂtﬁﬁmmh
ﬂa“ (b) =
(a)
44
(© Jfews T 9 m \
s S Aot L dipintt e
ROM (b) RAM (a)
L4 (d) FAJET (©

109. One Tera Byte = °’

(a) 1028 Mecgabytes y 1024 Gigabytes

(c) 1024 Kilobytes (d) 1028 Gigabytes

Wm = 7
(a) 1028 WTATETH (b) 1024 HeaTEEE
{C] 1024 m (d) 1028 g™
0= el
€S 1024 (b) 1028 ()
L1028 (d) F1024 (0
B-22 (SET.
CETA) (61)
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110.  Rickets is caused by the deficiency of:

(a)  Vitamin A (b) Vitamin D
(¢)  Vitamin C (d) lodinc
Re7y. @t &0t & sror By &
R A (b) R
() FRafim ¢ (d) e
Kt T g
S (b) &I st (3)
LT (d) S (o

1. 950 - 2 = 3697

(a) 13198 (b) 5814
(c) 5804 (d) 4894
H2. H.CFof42, 63 and 140 is

(a) 14 (b) 9

(c) 21 (d) 7
42,63, MM d0omuwy

(a) 14 (b) 9

() 21 d 7

113. 0.09 x 0.004 =

(@) 0.036 \/ﬂg 0.0036

(c) 0.00036 (d) 0.000036

B-22 (SET-A) (62)
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g’ " (b) |
@) 1'0 (d) 100
(©) 1 frat B et ww
| de TR H T ﬁ?ﬁ?ﬁawmm“mm?
@ O
(d) 100
©) 10

IR AT W els e K1y 21

100 (d) o o
115, 0+05><5—0.005><5=? |
(a) 2.25 (b) 0.225
(c) 2025 (@) 029875

-

116. In an examination, it is required to get 36% of the maximum marks t;:n pass. A
student got 113 marks and was declared failed by 85 marks. What was the
maximum mark?

(a) 600 (b) 550
(c) 640 (d) 650

T e # el 81Y @ Rra oftreaw ofE B 86% W AT AAETE ¥ 1 TF 8P
H 113 3% B ol TQ 85 ofFt @ B wfva Rar T | SfEA AR F av?

(@) 600 L) 550
(
B-22 (SET- A) 63)
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,,nafﬂ/r13.a.r"_,»u.g-¢;_;,J,;Jz_/wuss%b’/&’.if-‘a_nugucw,uf
?U"L.G.-"Jb’wb"’l-_l;" L ul/";" Kte 85 oy
350 (b) 600 (4
650 (d) 640 (©)
I17. The average age of 30 students in a class is 12 years. The average age of 2 group oll
5 students of the class is 10 years and that of another group of § Students oy

years. The average age of remaining students is :

(@) 8 years (b) 10 years

() 8 ad (d) 10 af
(a) 12 =4 (b) 16 a¢

c_/»éﬁl_fu’SJ;lJLz 1 U/Lf:rd’.%,,/ﬁ S5 Ld’m’._.:_-_ JL1 Z/L,,rd’gﬁ' 30 2 U (i
D et

-

JL10 (b) JL8  (a)
Ji-16 (d) Jui2 (o)
118. Ifradius of a circle is reduced by 50%. its area is reduced by-
(a) 259% (b) 509%
(C) 75% (d} 100%:
B-22 (SET-A) (64)
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N
ﬂﬁﬁi ) (b) 500, By
@ o v~ (d) 1009,
) ’ fy+ Y A 3
(¢ ?Jg__TQ{O)/J:‘?"JLJU"L?”CI’JSO%U: 5 .
/""-'-"Cﬁ..}uu"’,ﬁ
50% (b)
25%  (a
100% (d)
75% (c)

119.

ation 70% of the candidates passeq jp English, 809, d
’ ° passed in

In an examin 4 in both subjects. If
In S cects. |

MalhcmaliCS. 10% past® ) 144 candidateg Passed in both, the
total number of candidates was:

y 125 (b) 200

(a

(c) 240 d) 375

C

qﬁqﬂmﬁm%mﬂmﬁ-%%mﬁ,lO%ﬂ?Tf&ﬂ'ﬂ’fitﬁngnu&_
At ¥ 144 IAIEAR O BT, A F{A SHIGA A wow -

@ 125 (b) 200

) 240 (d) 375

J!'.'Jgﬁl.-'lfu;n l0%:,4__-;‘.]&LﬁfL;SO“/@:LﬁJEUﬂdz/ﬁxlyﬁal70%@&@‘!0/ o

?fﬂlﬁJJu,JI,éff;LﬁJ‘&J"g' l“gﬁu;’)ﬁ-’é—ﬁ

200 (b) 125 (@
375 (d) 240 (c)
120. " A man buys 12 articles for 12 rupecs and sells it at the rate of 1.25 rupees per
article. His gain percentage is:
© 15% d) 18%
B-22 (SET-A) )
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wm:zmﬁlzmmtms&ml.zsm #
i . T B TR Ty,

ﬂ{ 20% | b) 25%

€ 15% (d) 18%

e w’-’*"“f’;ﬂ’@-ﬂ'f-fafs{zlM'au”«f":ﬁ

e
2% () 20% (a)
8% (d) 15%  (c)

121. If the length of hypotenus¢ of a right angled triangle is 5 cm and its area is 6 sq.
cm, then the length of the remaining sides are

(a lcm,3cm (b) 3cm,2cm

() 3cm,4cm (d) 4cm,2cm

R wwar By @ Fof Y qarg 5 &N ¥ SN HH fAvw 6 o AWM R, @ W

st 2 ward -
(@) 18, s &t (b) 3 &, 2 ¥t
(c) 3&fh 43f (d) 4 &, 2 @it

?J’fuf.r’%fui:'rzdgi.‘;_ HF 6 36 e 25 SOUS AL alitas™)

HE 2,253 (b) ZEFIREL ()
AE2xF 4 (@) KEWREFD (©

122, A con i -
2| and a cylinder are of the same height. Their radii of the bases are in ratio of
1. The ratjq of thejr volumes is:

(a) 2 : ] b
(C) 4. 3 ( ) 3:2
d 1:3
B-22 (SET-a)
(66)
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mw‘““"““*‘“‘“‘mwnhz

ﬁ _ 1 *
© e & T T )
k (b) 3:2
3 ‘
@ - (d) 1:3
lc) 4. 3
- ‘2 ' 1 ‘_j.‘j Ku”ﬁl}.&‘yl_wcd | Lf.: .
.z‘{":dl..‘.-vc-r’bé ), v-’u - f*"lbg”'L’;_gi
e‘ﬂ.?.fb-
3:2 (b) 2:1 (a)
1:3 (d) 43 (o
41 x 7= 6909
3.1 ) 47
(@ 37 @ 27
©) 67
12 7+ 11=?
@ 7077 (b) 70707
\}cj 7707 (d) 7007
125. What is the smallest number to be added to 269 to make it perfect square”?
(a) 31 (b) 16
() 7 (d) 20

20 B T o ¥ B frg A A wad O e Y A e el

Ul (b) 16
) 7

31

(d) 20
%-93»&:’;._,/dn,;.zu:geoi&-/utmd/d
16 (b)
FTo. 20 (d)
B-22 (SET.A) N
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126. A gardener wants to plant 17956 trees in such a way that there are as many rows ag

there are trees in the row. The number of trees in a row is:

(a) 144 (b) 136

() 154 (dy 134
Wmms&%mwﬁmmt%mmtmﬁﬂth
g ¥ A% 2 wew 1

(a) 144 (b) 136

(¢) 154 (d) 134

LIS UGS Fiun s SIS Ll S GtBL P10 17956 UL
P a1 411974V Ol T

NN GNP
136 (b) 144  (a)
134 (d) 154 ()

127. What is equivalent discount on a sale of any product with two consccutived'y»,
discounts of 25% followed by 20%?
@ 15% (b) 60%
() 40% (d) 25%

(€)  40% (d) 25%
AL AL AP IS 20%025% , 25,3 S o s

60% (b) 15% (a)

25% (d) 40%
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umbers whose sum is 64 can not be in the ratio

" TwO whole 0
N .3 (b) 7:1
o " (d 9:7
ammmm&t“mm#?ﬁQMh
N .3 (b) 7:1
© 3:4 d) 9:7
-éﬂu:';uﬂu,/bfgf_ 3ne 64,2 l’c/zﬁﬁs.)'{’
7:1 (b) 5:3 (@
9:7 (d 3:4 (o)

129. 1f 12 menor I8 women can do a work in 14 days, then the number of days that 8

en will take to do that work is
(a) 7 by 9

(c) 8 (d) S
ﬁlzwmlsmlafﬁfﬁ@mmmmawmﬁmé

wmsmﬁﬁﬁmﬁﬁwaﬂﬂ? :
7 (b) 9

) 8 (d) 5

men and 16 wom

L ANE L3 16.mp8L L i G/E3 L0 141718451200
9 (b) 7 (a)

5 (d) 8 ()
130. T .
hrec years ago the average age of A and B was 18 years. When C joined them, the

aver oy .
age becomes 22 years now. How old is C now?

(a) 24 years (b) 27 ycars
() 2
8 years (d) 30 years P.T.O.
B-22 (SET-A)
(69) o
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7 @ aEd ¢ R & At s ong 18 ad 4t ) S F R WG JF T A ol
HT 22 WA B AT C B IT R Xy

(a) 247 (b) 27 ad

(c) 28 = (d) so ad

fs !

J?}JC_(.EF_E::JL»ﬂih.-:l.__,i;i,:JLﬁL;le.___,g_fJL,]H/L,,IJB.,,MJ;;JL,DL:
e
Ju27 (b) JL24  (a)

JL30 (d) Ju28

131. The strait that connects the Arabian sca and the Bay of Bengal is?
(a) Panama (b) Malacca
(c) Palk (d) Bering
S AR AT AT A @ FY Ay a2 -
(a) v (b) W
(c) = (d) aftr

g U2 CE N P fo 12
€n (b) W, (a)

Lz (d) JU ()
132, Neap tides are produced when |
(a)  The sun, Moon and Earth are in alignment
(b)  The Sun and Moon are at ri ght angles to cach other

(¢)  There is new Moon

(d)  There is full moon

B-22 (SET-A) (70)
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C
'-.*?L-L*(jrﬂ{-;.:ﬁ;uru,;z‘ﬁ
4G Ly tisentr () ULty (a)
Jre 7 v

e nrel (c)
s the date lin¢ moving east

133, Ifyou Cros

You subtract 2 day (b) You add a day

N Y add 12 hours (d) You subtract 12 hours
(c) ou

uﬂmgﬁ@taa%m%zmﬁmmt

(a) ag o e wen ¥ (b) = fam s ¥

(c) o 12 w2 Fea ¥ (d swizRwERE

i tS '{;;r,,,fﬁz.xig..i)JJ/’
ff..lgﬁ[c):..gl (a)

[_/u,y_&’ 12 (¢)

¥z bozekl (D)

LS enfE 12 (d)

134. In a parliamentary system whom is the executive resp
(b) House of the people

onsible?

(a) President of the nation

(¢c) Legislature (d) Judiciary

(a) = @ agyf (b) EH it fad
(o) Rrenfr (d) qraae
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Ce o IS IR 31,

;MLJ
Jriii (b) . @
< (o)

J# (d)
135. India is a federal state because its constitution Pm"idcs for
(a) dual citizenship
(b)  Dual Judiciary
(c)  Sharing powers between states and centre
(d)  Written constitution
R U Wl T & il g e sad RIQ STET AT -
(@) Wl Tfeaar
(b) et =R
Xof Tl o Bx @ drw Wy ot
(d i sfee

eSS L 1L < .;,E,,J IO
< (a)

<%0z (b)

t/_ﬁ;:lb’.:.ugéru:‘wé Lemust, (o)

-

iz (d)

136.  Supreme court Judge can hold office up to the age of: “
(@) 58 years (b) 56 years
(€) 62 years (d) 65 years
mm%mmmmmmmh
(a) 58 o (b) 56 a
(c) 62 af \(%5 -
B-22 (SET-A) (72)
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| cwédw.¢J;J€£¢,fﬁ4'

Ju-56 (b)
Ju65 (d) JLS8  (a)
Jlfﬁz (c)
17, The ex-officio Chairman of the Rajya Sabha
137

president (b) Vice President

(a)

() Prime minister
4 W B @A A
(@) TR M

(@) varER (d) srerw

(d) Specaker

el g8 2lie LN SR

wrtt (B) we (a)
% (d) A (©
138. How many languagcs arc included in the gth gchedule of constitution of India
() 15 (b) 18
() 20 (d) 22
e & v ) oft ST # Pt v 7
(@ IS5 (b) 18
() 20 (@ 22

cpdSSes RIS T

B-22 (SET-A)
(73)
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139.  The 86 Amendment Act, 2002 provided for
(8)  preservation of heritage and culture
(b)  safe guarding public property
(¢} free and compulsory education

(d)  promoting harmony

86% Wyt wfifraw, 2002 B frg war frar T |
(a) MU war wEwr T weaor (b) Wty wafer & g

€ 3w sk sfvardf R (d) v & W I
Y1 2002081675 7186
LA (b) EFEAmEL  (a)
EsEE (@) A (g
140. The oldest Veda is
(a) Rig Veda (b) Sama Veda
(¢} Yajur Veda (d) Atharva Veda
48 QT 37
G we (b) wmaz
(c) =eag (d) smfae
‘:.'_Juc[; )
*“’FL’ (b) ¢3J (a)
434 (d)
)
141.  The Golden Age of ancjen India wag during i«

(a) The Magadh empire (b) The Gupt .
(c) The Mauriap Empire (d) The R P " Empire
Aput Empire

(74)

B-22 (SET-A)

https://www.jamiastudy.com



o - .
WL e

}Vll:f (b)
v ;VI‘,J (a)
Hetzsgs (d) |
¢ /l'/l:,,,w (C)
142. Who introduced the coin 'Rupia"?
(a) Sher Shah Suri (b) Akbar
(c) Humayan (d) Babar
Ry wwar e qafera Rear ar?
(a) o amE g (b)
@ (d T
?LI/JJWLJ:;‘;; .
ﬂ'/] (b) d}f!l}i (a)
Jra  (©)

s (d)

143. Abolition of Sati was one of the social reforms introduced by

(a) Lord Wellesley (b) Lord Hastings

(¢) Lord William Bentinck (d) Lord Harding

m“mmmm%mﬂammwﬁﬁﬁwm
(a) wré Adorehr (b) e HET
(c) «t Pt WRw ) s wfén
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L0 (B)
Jfl‘- s (d)

144. The Khilafat Movement was launched 1n
@) 1922 MZO

() 1919 (d) 1918
famrga seteT o= far mar ar
(a) 1922 (b) 1920
(c) 1919 (d) 1918
JKC:;.:.JU;__(/’
1920 (b) 1922 (a)
1918 (d) 1919 (¢)
145. Which of the following was the official Language of the Pallavas?
(a) Tamil (b) Pali
(¢) Sanskrit (d) Kannada
Teal B i sy frafafaa § @ T 42
(a) afwr Ab) Tt
(c) wegm (d) ==
UL Surh
J (b) S @
)”/ (d) - (c)
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he following is an eXample of recyclable reggyreess
. .

poft
6. W ‘ (®) wind
possil fue
() (d) Metals
water

(c) ﬁ%mmwmm%mt?
A (b) ®

@ A & g
© A J
e SO OLsa S S00de £ S 5t
v (b 1
-i ) C;‘J-':'J.rj (a)
Ll (d)

\55 (c)
147. Which of the following is a major cause of land degradation in Punjab?

(a) Intense Cultivation (b) over irrigation

frfofem & & 7 9oma & 9f% aRor & o gy@ snor ke

(a) W& |/ (b) v fyemd
(c) =t % werf \(W
ggjﬁi;qd/i_x?lf;yff.cﬁ}u:ﬁ.lﬁ
3&-.—434:.:_..-.,;,,& (b) JJK;}KJVZJ‘DJW (a)
Ulslic o (d) iz (o)

148, Pink head duck is an example of

(@) Extinct species (b) rare species
(©)  Endemic species (d) vulnerable species
B-22 (SET-A) .
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ot fire wev v 0% STeCT &

gt
(o) foger s ) 5 .
(o) v vt (@) T
JJ’JI»L&JEM,;& (b) J‘JT' 4 (a)
Flve BLEG (d) S (g
149. Black soil is good for growing
(@)  Rice (b) Wheat
(c) cotton (d) sugar cane
FTelt R I B forg aredt Bl &
(ﬂ/ I (d) =
urd (b)
Jb  (a)
¢ (d)
Ji© (o)

150. Which of the following countries is the largest consumer of coal in the world?

(2) India (b) Russia

(¢) Canada (d) China
ﬁwﬁmﬁ%mm&wgﬁmﬁaﬂuﬁmmmmg ?
(a) wma (b) ==
(c) #my (d) =
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?ﬁ- d”*'u:-liu/u[._}r_. -...-«'JJE_JE;
T v E’

Jrs (b)
L'JU‘!A;'; (a)

L (d)
13 (c)

Two sisters communicate 10 cach other in their code language often. Thei
) _ . Their mother
is unable understand them as they keep changing the codes often as and when th
~ ey

eel like. What characteristic of language is not followed by the sisters?
() Language must be socially shared

(b) Language is @ reprcsentalional tool

(c) Language is a code that uses arbitrary symbols

(d) Language code is conventional

et o 3 T ST T TR G 0§ o o o
wtm&mmmmﬁﬁllﬁmwﬁmﬁﬁmwm
w e w
(@ T 3 AR w9 & wre f a wnfe

wreT wE SRt SuwT ¥
(c) wqmmhhmﬁmhﬁmammt
() vt Brs qRuRE ¥

28y P iSO Gifdz‘;v‘:iJuu'-JcJ'-u.EJ/JW'MJifﬁlﬁv’ib-‘ffn
eSS SzI (e il dods

' _é_gjx_f;‘/.;,)&vug; (a)

4,_._),5_95‘!;@;; (b)

ngJijwuwuﬁer-ifw-Quu ()

rro canaftoy @
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¢s of sharing i"ﬁ’rmalign-..,

152 Which of the following is detined as "It is the proce

@™ Speech (b) Commun ication

(¢)  Hearing () Language

ﬁqﬁf&aﬁﬁmmguﬂmﬁmmaﬂmm”

(a) vy (b) e

(¢) gard (d) wmar

LN S B Sur A e,
S (b) u..é”' (a)
vt (d) = (¢)
33 Which of the following describe acoustic events involved in the transmisson and

reception ot a sound?

( ) ( 'I l1

verbalization by mouth

B —€rro
SHONOT A sound sourge, vibration of air particles  sce

~Somprchension hi heois
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